THE AMERICAN INSTITUTE OF ARCHITECTS

AIA Document A310 Bid Bond

KNOW ALL MEN BY THESE PRESENTS, THAT WE J. C	. Evans Construction Co., LP	
8660 N. US Hwy. 183A Toll Road, Leander, TX 78641		
as Principal, hereinafter called the Principal, and Safeco Ins	surance Company of America	
Safeco Plaza, Seattle, WA 98185		
a corporation duly organized under the laws of the State of	WA	
as Surety, hereinafter called the Surety, are held and firmly	bound unto Williamson County	
301	SE Inner Loop, Suite 106, Georgetown, TX	
as Obligee, hereinafter called the Obligee, in the sum of	Five Percent of Amount Bid	
	Dollars (\$5%),
for the payment of which sum well and truly to be made, the executors, administrators, successors and assigns, jointly a		ves, our heirs,
WHEREAS, the Principal has submitted a bid for Williams	s Drive DB Woods to FM 3405 Road Construction	on: Project
#09WC706		
NOW, THEREFORE, if the Obligee shall accept the bid of the Obligee in accordance with the terms of such bid, and contract Documents with good and sufficient surety for the payment of labor and materials furnished in the prosecution such Contract and give such bond or bonds, if the Princip penalty hereof between the amount specified in said bid and contract with another party to perform the Work covered by to remain in full force and effect.	give such bond or bonds as may be specified in the faithful performance of such Contract and for thereof, or in the event of the failure of the Pripal shall pay to the Obligee the difference not ad such larger amount for which the Obligee may said bid, then this obligation shall be null and very	the bidding or for the prompt ncipal to enter to exceed the y in good faith roid, otherwise
Signed and sealed this day of	December	_ ,2008
Witness)	J. C. Evans Construction Co., LP (Principal) By:	(Seal)
		(Title)
	Safeco Insurance Company of America	
Michele Merchant	(Surety)	(Seal)
Michele Merchant (Witness)	By: Kallet Cal	(T:U-)
	Attomey-in-Fact Robert A. Chlada	(Title)



POWER OF ATTORNEY

Safeco Insurance Company of America General Insurance Company of America Safeco Plaza Seattle, WA 98185

KNOW ALL BY THESE PRESENTS:

No. 13288

That SAFECO INSURANCE COMPANY OF AMERICA and GENERAL INSURANCE COMPANY OF AMERICA, each a Washington corporation, does each hereby appoint

its true and lawful attorney(s)-in-fact, with full authority to execute on its behalf fidelity and surety bonds or undertakings and other documents of a similar character issued in the course of its business, and to bind the respective company thereby.

IN WITNESS WHEREOF, SAFECO INSURANCE COMPANY OF AMERICA and GENERAL INSURANCE COMPANY OF AMERICA have each executed and attested these presents

Alephanie Jaluskatsur

STEPHANIE DALEY-WATSON, SECRETARY

TIM MIKOLAJEWSKI, SENIOR VICE-PRESIDENT, SURETY

CERTIFICATE

Extract from the By-Laws of SAFECO INSURANCE COMPANY OF AMERICA and of GENERAL INSURANCE COMPANY OF AMERICA:

"Article V, Section 13. - FIDELITY AND SURETY BONDS ... the President, any Vice President, the Secretary, and any Assistant Vice President appointed for that purpose by the officer in charge of surety operations, shall each have authority to appoint individuals as attorneys-in-fact or under other appropriate titles with authority to execute on behalf of the company fidelity and surety bonds and other documents of similar character issued by the company in the course of its business... On any instrument making or evidencing such appointment, the signatures may be affixed by facsimile. On any instrument conferring such authority or on any bond or undertaking of the company, the seal, or a facsimile thereof, may be impressed or affixed or in any other manner reproduced; provided, however, that the seal shall not be necessary to the validity of any such instrument or undertaking."

Extract from a Resolution of the Board of Directors of SAFECO INSURANCE COMPANY OF AMERICA and of GENERAL INSURANCE COMPANY OF AMERICA adopted July 28, 1970.

"On any certificate executed by the Secretary or an assistant secretary of the Company setting out,

- (i) The provisions of Article V, Section 13 of the By-Laws, and
- (ii) A copy of the power-of-attorney appointment, executed pursuant thereto, and
- (iii) Certifying that said power-of-attorney appointment is in full force and effect,

the signature of the certifying officer may be by facsimile, and the seal of the Company may be a facsimile thereof."

I, Stephanie Daley-Watson , Secretary of SAFECO INSURANCE COMPANY OF AMERICA and of GENERAL INSURANCE COMPANY OF AMERICA, do hereby certify that the foregoing extracts of the By-Laws and of a Resolution of the Board of Directors of these corporations, and of a Power of Attorney issued pursuant thereto, are true and correct, and that both the By-Laws, the Resolution and the Power of Attorney are still in full force and effect.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed the facsimile seal of said corporation

this 17th day of <u>Secentral</u> 2008





STEPHANIE DALEY-WATSON, SECRETARY

Safeco® and the Safeco logo are registered trademarks of Safeco Corporation.

BID FORM

PROJECT IDENTIFICATION

June 2007		Bid Form
	BID FORM	
PROJECT IDENTIFICATION		
Project No. <u>09WC706</u> -	Williams Drive	

THIS BID IS SUBMITTED TO:

Williamson County Purchasing Department Attn: Jonathan Harris 301 SE Inner Loop - Suite 106 Georgetown, Texas 78626

The undersigned BIDDER proposes and agrees, if this Bid is accepted, to enter into an agreement with COUNTY in the form included in the Contract Documents to perform and furnish all Work as specified or indicated in the Contract Documents for the Bid Price and within the Bid Times indicated in this Bid and in accordance with the other terms and conditions of the Contract Documents.

BIDDER accepts all of the terms and conditions of the Notice to Bidders and Instructions to Bidders, including without limitation those dealing with the disposition of Bid security. This Bid will remain subject to acceptance for 60 days after the day of Bid opening. BIDDER will sign and deliver the required number of counterparts of the Agreement with the Bonds and other documents required by the Bidding Requirements within 10 working days after the date of COUNTY's Notice of Award.

This Bid is genuine and not made in the interest of or on behalf of any undisclosed person, firm, or corporation and is not submitted in conformity with any agreement or rules of any group, association, organization, or corporation; BIDDER has not directly or indirectly induced or solicited any other Bidder to submit a false or sham Bid; BIDDER has not solicited or induced any person, firm, or corporation to refrain from bidding; and BIDDER has not sought by collusion to obtain for itself any advantage over any other Bidder or over COUNTY.

BIDDER will complete the work in accordance with the Contract Documents and the accompanying Schedule of Rates and Prices, and will pay not less than the Prevailing Wage Rates for Williamson County, Texas. The work will be completed within 570 calendar days from the date for commencing work as set forth in the "Notice to Proceed" to be issued by the COUNTY.

A Corporation		
Ву	(Corporate Name)	(SEAL)
	(State of Incorporation) (Name of Person Authorized to Sign)	 (SEAL)
(Corporate Seal)		
Attest:	(Secretary)	
Date of Qualification to	o Do Business is	

PROJECT:

09WC706

Project Name Williams Drive

BID	TECH SPEC ¹	DESCRIPTION WITH UNIT PRICES IN WORDS			BID QUANTITY	UNIT MEASURE	UNIT COST	AMOUNT BID
1	100-2002	PREPARING ROW at One Thousand Six Hundred Dollars and No Cents	per	Station	186.52	STA	\$ 1,600.00	\$ 298,432.00
2	106-2001	OBLITERATE ABABDON ROAD at Five Hundred Dollars and No Cents	per	Station	6.5	STA	\$ 500.00	\$ 3,250.00
3	110-2001	EXCAVATION (ROADWAY) at Four Dollars and Twenty Five Cents	per	Cubic Yard	43668	CY	\$ 4.25	\$ 185,589.00
4	110-2002	EXCAVATION (CHANNEL) at Twenty Five Dollars and No Cents	per	Cubic Yard	40	CY	\$ 25.00	\$ 1,000.00
5	132-2003	EMBANKMENT (FINAL)(ORD CMP)(TY B) at One Dollar and Seventy Five Cents	per	Cubic Yard	27175	CY	\$ 1.75	\$ 47,556.25
6	160-2003	FURNISHING & PLACING TOPSOIL(4") at No Dollars and Thirty Five Cents	per	Square Yard	84660	SY	\$ 0.35	\$ 29,631.00
7	164-2035	DRILL SEEDING(PERM)(RURAL)(CLAY) at No Dollars and Fifteen Cents	per	Square Yard	84660	SY	\$ 0.15	\$ 12,699.00
8	164-2041	DRILL SEEDING(TEMP)(WARM) at No Dollars and Ten Cents	per	Square Yard	21164	SY	\$ 0.10	\$ 2,116.40
9	164-2043	DRILL SEEDING(TEMP)(COOL) at No Dollars and Ten Cents	per	Square Yard	21164	SY	\$ 0.10	\$ 2,116.40
10	168-2001	VEGETATIVE WATERING at Twelve Dollars and No Cents	per	Million Gallons	2115	MG	\$ 12.00	\$ 25,380.00
11	247-2044	FL BS (CMP IN PLC) (TY A GR 4) (FINAL POS) at Twenty Eight Dollars and Twenty Five Cents	per	Cubic Yard	38940	CY	\$ 28.25	\$ 1,100,055.00

PROJECT:

09WC706

Project Name Williams Drive

BID	TECH SPEC ¹	DESCRIPTION			BID	UNIT	UNIT COST	AMOUNT BID
ITEM	SPEC	WITH UNIT PRICES IN WORDS			QUANTITY	MEASURE		
12	310-2005	PRIME COAT (MC 30 OR AE-P)			22639	GAL	\$ 3.45	\$ 78,104.55
		at <u>Three Dollars and Forty Five Cents</u>	per	Gallons				
13	316-2007	ASPH (HFRS-2)			18288	GAL	\$ 3.00	\$ 54,864.00
		at <u>Three Dollars and No Cents</u>	per	Gallons				
14	316-2176	AGGR (TY-B GR-5 SAC-B)			614	CY	\$ 80.00	\$ 49,120.00
		at <u>Eighty Dollars and No Cents</u>	per	Cubic Yard				
15	341-2011	D-GR HMA(QCQA) TY-B PG64-22			18395	TON	\$ 52.00	\$ 956,540.00
		at <u>Fifty Two Dollars and No Cents</u>	per	<u>Ton</u>				
16	341-2048	D-GR HMA(QCQA) TY-C SAC-B PG70-22			19344	TON	\$ 70.00	\$ 1,354,080.00
		at <u>Seventy Dollars and No Cents</u>	per	<u>Ton</u>				
17	341-2050	D-GR HMA(QCQA) TY-C PG70-22			19377	TON	\$ 60.00	\$ 1,162,620.00
		at Sixty Dollars and No Cents	per	<u>Ton</u>				
18	341-2253	D-GR HMA(QCQA) TY-C PG64-22(LEVEL-UP)			10754	TON	\$ 56.00	\$ 602,224.00
		at <u>Fifty Six Dollars and No Cents</u>	per	<u>Ton</u>				
19	351-2006	FLEXIBLE PAVEMENT STRUCTURE REPAIR (10")			3049	SY	\$ 42.00	\$ 128,058.00
		at <u>Forty Two Dollars and No Cents</u>	per	Square Yard				
20	354-2002	PLAN & TEXT CONC PAV (0" TO 2")			2061	SY	\$ 4.50	\$ 9,274.50
		at Four Dollars and Fifty Cents	per	Square Yard				
21	416-2030	DRILL SHAFT (TRF SIG POLE) (24 IN)			12	LF	\$ 164.30	\$ 1,971.60
		at One Hundred Sixty Four Dollars and Thirty Cents	per	Lineal Feet		ļ		
22	416-2032	DRILL SHAFT (TRF SIG POLE) (36 IN)			81	LF	\$ 291.50	\$ 23,611.50
		at <u>Two Hundred Ninety One Dollars and Fifty Cents</u>	per	<u>Lineal Feet</u>	<u> </u>			

PROJECT:

09WC706

Project Name Williams Drive

BID ITEM	TECH SPEC ¹	DESCRIPTION WITH UNIT PRICES IN WORDS			BID QUANTITY	UNIT MEASURE	UNIT COST	AMOUNT BID
23	432-2001	RIPRAP(CONC)(4 IN) at Three Hundred Twenty Five Dollars and No Cents	per	Cubic Yard	371.4	CY	\$ 325.00	\$ 120,705.00
24	432-2040	RIPRAP (MOW STRIP) (5") at Three Hundred Seventy Five Dollars and No Cents	per	Cubic Yard	67	CY	\$ 375.00	\$ 25,125.00
25	460-2003	CMP(GAL STL 18 IN) at Fifty Two Dollars and No Cents	per	Lineal Feet	113	LF	\$ 52.00	\$ 5,876.00
26	460-2004	CMP(GAL STL 24 IN) at Fifty Seven Dollars and No Cents	per	Lineal Feet	96	LF	\$ 57.00	\$ 5,472.00
27	460-2005	CMP(GAL STL 30 IN) at Seventy Eight Dollars and No Cents	per	Lineal Feet	50	LF	\$ 78.00	\$ 3,900.00
28	462-2001	CONC BOX CULV (3FT X 2 FT) at One Hundred Forty Eight Dollars and No Cents	per	Lineal Feet	139	LF	\$ 148.00	\$ 20,572.00
29	464-2003	RC PIPE (CL III) (18 IN) at Fifty Eight Dollars and No Cents	per	Lineal Feet	1209	LF	\$ 58.00	\$ 70,122.00
30	464-2005	RC PIPE (CL III) (24 IN) at Sixty Two Dollars and No Cents	per	Lineal Feet	1354	LF	\$ 62.00	\$ 83,948.00
31	464-2009	RC PIPE (CL III) (36 IN) at One Hundred Two Dollars and No Cents	per	Lineal Feet	10	LF	\$ 102.00	\$ 1,020.00
32	464-2021	RC PIPE (CL IV) (18 IN) at Sixty Dollars and No Cents	per	Lineal Feet	810	LF	\$ 60.00	\$ 48,600.00
33	464-2022	RC PIPE (CL IV) (24 IN) at Sixty Seven Dollars and No Cents	per	Lineal Feet	386	LF	\$ 67.00	\$ 25,862.00

PROJECT:

09WC706

Project Name Williams Drive

BID ITEM	TECH SPEC ¹	DESCRIPTION WITH UNIT PRICES IN WORDS			BID QUANTITY	UNIT MEASURE	UNIT COST	AMOUNT BID
34	465-2003	INLET (COMPL)(TY I) at Three Thousand Eight Hundred Dollars and No Cents	per	Each	4	EA	\$ 3,800.00	\$ 15,200.00
35	465-2211	JUNCTION BOX (SPL) at Three Thousand Five Hundred Dollars and No Cents	per	Each	1	EA	\$ 3,500.00	\$ 3,500.00
36	466-2125	HEADWALL (CH-PW-0) (DIA=24 IN) at Four Thousand Eight Hundred Dollars and No Cents	per	Each	3	EA	\$ 4,800.00	\$ 14,400.00
37	466-2127	HEADWALL (CH-PW-0) (DIA=30 IN) at Five Thousand Five Hundred Dollars and No Cents	per	Each	1	EA	\$ 5,500.00	\$ 5,500.00
38	467-2209	SET (TY II) (18 IN) (RCP) (3:1) (C) at One Thousand Two Hundred Dollars and No Cents	per	<u>Each</u>	70	EA	\$ 1,200.00	\$ 84,000.00
39	467-2211	SET (TY II) (24 IN) (RCP) (3:1) (C) at One Thousand Four Hundred Dollars and No Cents	per	Each	8	EA	\$ 1,400.00	\$ 11,200.00
40	467-2222	SET (TY II) (18 IN) (RCP) (4:1) (C) at One Thousand Three Hundred Twenty Five Dollars and No Cents	per	Each	2	EA	\$ 1,325.00	\$ 2,650.00
41	467-2224	SET (TY II) (24 IN) (RCP) (4:1) (C) at One Thousand Five Hundred Fifty Dollars and No Cents	per	Each	1	EA	\$ 1,550.00	\$ 1,550.00
42	467-2236	SET (TY II) (24 IN) (RCP) (6:1) (C) at One Thousand Seven Hundred Dollars and No Cents	per	<u>Each</u>	4	EA	\$ 1,700.00	\$ 6,800.00
43	467-2247	SET (TY II) (18 IN) (CMP) (3:1) (C) at One Thousand Two Hundred Dollars and No Cents	per	<u>Each</u>	1	EA	\$ 1,200.00	\$ 1,200.00
44	467-2249	SET (TY II) (24 IN) (CMP) (3:1) (C) at One Thousand Four Hundred Dollars and No Cents	per	<u>Each</u>	4	EA	\$ 1,400.00	\$ 5,600.00

PROJECT:

09WC706

Project Name Williams Drive

BID ITEM	TECH SPEC ¹	DESCRIPTION WITH UNIT PRICES IN WORDS			BID QUANTITY	UNIT MEASURE	UNIT COST	AMOUNT BID
45	467-2251	SET (TY II) (30 IN) (CMP) (3:1) (C) at One Thousand Six Hundred Dollars and No Cents	per	Each	1	EA	\$ 1,600.00	\$ 1,600.00
46	467-2260	SET (TY II) (18 IN) (CMP) (4:1) (C) at One Thousand Three Hundred Twenty Five Dollars and No Cents	per	Each	2	EA	\$ 1,325.00	\$ 2,650.00
47	467-XXXX	SET (HW= 2 FT) (4:1) at Four Thousand Four Hundred Dollars and No Cents	per	<u>Each</u>	2	EA	\$ 4,400.00	\$ 8,800.00
48	496-2004	REMOV STR(SET) at One Hundred Dollars and No Cents	per	Each	107	EA	\$ 100.00	\$ 10,700.00
49	496-2007	REMOV STR(PIPE) at Seven Dollars and No Cents	per	Lineal Feet	509	LF	\$ 7.00	\$ 3,563.00
50	496-2016	REMOV STR(PIPE) at One Hundred Eighty Five Dollars and No Cents	per	Each	57	EA	\$ 185.00	\$ 10,545.00
51	500-2001	MOBILIZATION at Seven Hundred Five Thousand Dollars and No Cents	per	Lump Sum	1	LS	\$ 705,000.00	\$ 705,000.00
52	502-2001	BARRICADES SIGNS & TRAFFIC HANDLING at Two Thousand Dollars and No Cents	per	Month	19	МО	\$ 2,000.00	\$ 38,000.00
53	506-2002	ROCK FILTER DAMS (INSTALL) (TY 2) at Twenty Dollars and No Cents	per	Lineal Feet	100	LF	\$ 20.00	\$ 2,000.00
54	506-2009	ROCK FILTER DAMS (REMOVE) (TY 2) at Five Dollars and No Cents	per	Lineal Feet	100	LF	\$ 5.00	\$ 500.00
55	506-2016	CONSTRUCTION EXITS (INSTALL) (TY1) at Ten Dollars and No Cents	per	Square Yard	78	SY	\$ 10.00	\$ 780.00

PROJECT:

09WC706

Project Name Williams Drive

BID	TECH	DESCRIPTION			BID	UNIT	UNIT COST	AMOUNT BID
ITEM	SPEC ¹	WITH UNIT PRICES IN WORDS			QUANTITY	MEASURE		
56	506-2019	CONSTRUCTION EXITS (REMOVE)			78	SY	\$ 5.00	\$ 390.00
		at <u>Five Dollars and No Cents</u>	per	Square Yard				
		TEMPORARY SEDIMENT CONTROL FENCE						
57	506-2034	at Two Dellars and Twenty Five Cents		Lineal Foot	21475	LF	\$ 2.25	\$ 48,318.75
<u> </u>	·	at <u>Two Dollars and Twenty Five Cents</u>	per	<u>Lineal Feet</u>	<u> </u>			
58	508-2002	CONSTRUCTING DETOURS			3168	SY	\$ 50.00	\$ 158,400.00
		at <u>Fifty Dollars and No Cents</u>	per	Square Yard				
59	512-2011	PORT CTB (DES SOURCES) (SAFETY SH) (TY 2)			900	LF	\$ 6.00	£ 400.00
39	312-2011	at Six Dollars and No Cents	per	Lineal Feet	900	[\$ 6.00	\$ 5,400.00
		PORT CTB (MOVE) (SAFETY SH) (TY 2)						
60	512-2020				900	LF	\$ 5.00	\$ 4,500.00
		at <u>Five Dollars and No Cents</u>	per	<u>Lineal Feet</u>				
61	529-2004	CONC CURB & GUTTER(TY II)			44	LF	\$ 20.00	\$ 880.00
		at <u>Twenty Dollars and No Cents</u>	per	<u>Lineal Feet</u>				
	500 0000	CONC GUTTER (TY A) VALLEY GUTTER					•	7.500.00
62	529-2033	at Eighty Dollars and No Cents	per	Lineal Feet	94	LF	\$ 80.00	\$ 7,520.00
			рег	Lillearreet				
63	540-2001	MTL W-BEAM GD FEN (TIM POST)			1212.5	LF	\$ 20.00	\$ 24,250.00
		at <u>Twenty Dollars and No Cents</u>	per	<u>Lineal Feet</u>				
64	540-2003	MTL THRIE-BEAM GD FEN (TIM POST)			102	LF	\$ 50.00	\$ 5.100.00
	0 10 2000	at <u>Fifty Dollars and No Cents</u>	per	Lineal Feet	102	-	30.00	3,100.00
		TERMINAL ANCHOR SECTION						
65	540-2005			F	5	EA	\$ 450.00	\$ 2,250.00
		at Four Hundred Fifty Dollars and No Cents	per	<u>Each</u>		 		
66	544-2001	GUARDRAIL END TREATMENT (INSTALL)			1	EA	\$ 2,500.00	\$ 2,500.00
		at <u>Two Thousand Five Hundred Dollars and No Cents</u>	per	<u>Each</u>				

PROJECT:

09WC706

Project Name Williams Drive

BID ITEM	TECH SPEC ¹	DESCRIPTION WITH UNIT PRICES IN WORDS			BID QUANTITY	UNIT MEASURE	UNIT COST	AMOUNT BID
67	545-2022	CRASH CUSH ATTEN(INSTL)(REACT)(N)		Th	1	EA	\$ 30,000.00	\$ 30,000.00
68	545-2024	at Thirty Thousand Dollars and No Cents CRASH CUSH ATTEN(REMOVE)(REACT)(N)	per	<u>Each</u>	1	EA	\$ 1,000.00	\$ 1,000.00
69	560-2004	at One Thousand Dollars and No Cents MAILBOX INSTALL(S)(WC-POST)	per	<u>Each</u>	17	EA	\$ 150.00	\$ 2,550.00
70	618-2018	at One Hundred Fifty Dollars and No Cents CONDUIT (PVC) (SCHD 40) (2")	per	<u>Each</u>	808	LF	\$ 14.50	\$ 11,716.00
71	618-2022	at Fourteen Dollars and Fifty Cents CONDUIT (PVC) (SCHD 40) (3")	per	Lineal Feet	812	LF	\$ 16.50	\$ 13,398.00
72	618-2024	at Sixteen Dollars and Fifty Cents CONDUIT (PVC) (SCHD 40) (4")	per	<u>Lineal Feet</u>	116	LF	\$ 26.50	\$ 3,074.00
73	620-2009	at Twenty Six Dollars and Fifty Cents ELEC CONDUCTOR (NO. 6) BARE	per	Lineal Feet	108	LF	\$ 1.59	\$ 171.72
74	620-2010	at One Dollar and Fifty Nine Cents ELEC CONDUCTOR (NO. 6) INSULATED	per	<u>Lineal Feet</u>	150	LF	\$ 2.01	\$ 301.50
75	620-2011	at Two Dollars and One Cent ELEC CONDUCTOR (NO. 8) BARE	per	Lineal Feet	502	LF	\$ 1.38	\$ 692.76
76	620-2012	at <u>One Dollar and Thirty Eight Cents</u> ELEC CONDR (NO. 8) INSULATED	per	Lineal Feet	2906	LF	\$ 1.69	\$ 4,911.14
77	624-2012	at One Dollar and Sixty Nine Cents GROUND BOX TY C (162911) W/ APRON	per	<u>Lineal Feet</u>	14	EA	\$ 675.00	\$ 9,450.00
		at Six Hundred Seventy Five Dollars and No Cents	per	<u>Each</u>				

PROJECT:	09WC706	Project Name Williams Drive

BID ITEM	TECH SPEC ¹	DESCRIPTION WITH UNIT PRICES IN WORDS			BID QUANTITY	UNIT MEASURE	UNIT COST	AMOUNT BID
78	624-2014	GROUND BOX TY D (162922) W/ APRON at Eight Hundred Seventy Five Dollars and No Cents	per	Each	2	EA	\$ 875.00	\$ 1,750.00
79	625-2004	ZINC COAT STL WIRE (3/8")	• • • • • • • • • • • • • • • • • • • •		2221	LF	\$ 1.75	\$ 3,886.75
80	628-2098	at One Dollar and Seventy Five Cents ELEC SERV TY D (120/240) 070 (NS) AL (E) EX (0)	per	Lineal Feet	1	EA	\$ 3,968.00	\$ 3,968.00
81	628-2109	at <u>Three Thousand Nine Hundred Sixty Eight Dollars and No Cents</u> ELEC SERV TY D (120/240) 070 (NS) AL (E) SP (0)	per	<u>Each</u>	2	EA	\$ 5,088.00	\$ 10,176.00
82	628-2158	at <u>Five Thousand Eighty Eight Dollars and No Cents</u> REMOVE ELEC SERVICE	per	<u>Each</u>	3	EA	\$ 265.00	
02	020-2130	at Two Hundred Sixty Five Dollars and No Cents INS SM RD SN SUP & AM TY 10BWG (1) SA (P)	per	Each	3	EA	\$ 265.00	\$ 795.00
83	644-2001	at Three Hundred Sixty Five Dollars and No Cents	per	Each	39	EA	\$ 365.00	\$ 14,235.00
84	644-2004	INS SM RD SN SUP & AM TY 10BWG (1) SA (T) at Five Hundred Forty Five Dollars and No Cents	per_	<u>Each</u>	23	EA	\$ 545.00	\$ 12,535.00
85	644-2027	INS SM RD SN SUP & AM TY S80 (1) SA (U) at Nine Hundred Twenty Five Dollars and No Cents	per	Each	3	EA	\$ 925.00	\$ 2,775.00
86	644-2048	INS SM RD SN SUP & AM TY TWT (1) UA (P)	···········		10	EA	\$ 305.00	\$ 3,050.00
87	644-2060	at Three Hundred Five Dollars and No Cents REMOVE SM RD SN SUP & AM	per	Each	124	EA	\$ 50.00	\$ 6,200.00
	050 004 /	at <u>Fifty Dollars and No Cents</u> INSTL OM ASSM (OM - 2X) (WC) GND	per	<u>Each</u>		5.4		
88	658-2314	at <u>Thirty Three Dollars and No Cents</u>	per	<u>Each</u>	5	EA	\$ 33.00	\$ 165.00

PROJECT:

09WC706

Project Name Williams Drive

BID ITEM	TECH SPEC ¹	DESCRIPTION WITH UNIT PRICES IN WORDS		<u> </u>	BID QUANTITY	UNIT MEASURE	UNIT COST	AMOUNT BID
89	662-2004	WK ZN PAV MRK NON - REMOV (W) 4" (SLD)			44885	LF	\$ 0.18	\$ 8,079.30
		at <u>No Dollars and Eighteen Cents</u>	per	Lineal Feet				
90	662-2017	WK ZN PAV MRK NON - REMOV (W) (ARROW)			52	EA	\$ 75.00	\$ 3,900.00
		at <u>Seventy Five Dollars and No Cents</u>	per	<u>Each</u>		ļļ		
91	662-2032	WK ZN PAV MRK NON - REMOV (Y) 4" (SLD)			43894	LF	\$ 0.19	\$ 8,339.86
	·····	at <u>No Dollars and Nineteen Cents</u>	per	<u>Lineal Feet</u>				
92	662-2067	WK ZN PAV MRK REMOV (W) 4" (SLD)			8100	LF	\$ 0.70	\$ 5,670.00
		at <u>No Dollars and Seventy Cents</u>	per	<u>Lineal Feet</u>				
93	662-2084	WK ZN PAV MRK REMOV (W) (ARROW)			4	EA	\$ 125.00	\$ 500.00
		at One Hundred Twenty Five Dollars and No Cents	per	<u>Each</u>				
94	662-2099	WK ZN PAV MRK REMOV (Y) 4" (SLD)			8048	LF	\$ 0.70	\$ 5,633.60
		at <u>No Dollars and Seventy Cents</u>	per	Lineal Feet				
95	662-2113	WK ZN PAV MRK SHY TERM (TAB) TY W			37520	EA	\$ 0.50	\$ 18,760.00
		at <u>No Dollars and Fifty Cents</u>	per	<u>Each</u>		ļ		
96	662-2115	WK ZN PAV MRK SHY TERM (TAB) TY Y-2			37520	EA	\$ 0.50	\$ 18,760.00
		at <u>No Dollars and Fifty Cents</u>	per	<u>Each</u>				
97	666-2003	REFL PAV MRK TY I (W) 4" (BRK)(100MIL)			8340	LF	\$ 0.25	\$ 2,085.00
		at <u>No Dollars and Twenty Five Cents</u>	per	Lineal Feet				
98	666-2006	REFL PAV MRK TY I (W) 4" (DOT)(100MIL)			113	LF	\$ 1.00	\$ 113.00
		at <u>One Dollar and No Cents</u>	per	<u>Lineal Feet</u>				
99	666-2012	REFL PAV MRK TY I (W) 4" (SLD)(100MIL)			39870	LF	\$ 0.24	\$ 9,568.80
		at <u>No Dollars and Twenty Four Cents</u>	per	Lineal Feet	<u> </u>			

PROJECT:

09WC706

Project Name Williams Drive

BID ITEM	TECH SPEC ¹	DESCRIPTION WITH UNIT PRICES IN WORDS			BID QUANTITY	UNIT MEASURE	UNIT COST	AMOUNT BID
		REFL PAV MRK TY I (W) 8" (SLD)(100MIL)						
100	666-2036	at <u>No Dollars and Forty Cents</u>	per	Lineal Feet	2323	LF	\$ 0.40	\$ 929.20
101	666-2042	REFL PAV MRK TY I (W) 12"(SLD)(100MIL)			950	LF	\$ 2.10	\$ 1,995.00
	000 10 11	at <u>Two Dollars and Ten Cents</u>	per	<u>Lineal Feet</u>				1,000.00
102	666-2048	REFL PAV MRK TY I (W) 24"(SLD)(100MIL)			586	LF	\$ 4.00	\$ 2,344.00
		at <u>Four Dollars and No Cents</u>	per	<u>Lineal Feet</u>				
103	666-2054	REFL PAV MRK TY I (W) (ARROW) (100MIL)			47	EA	\$ 72.50	\$ 3,407.50
		at Seventy Two Dollars and Fifty Cents	per	<u>Each</u>				
104	666-2069	REFL PAV MRK TY I (W) (DBL ARROW) (100MIL)			1	EA	\$ 95.00	\$ 95.00
		at <u>Ninety Five Dollars and No Cents</u>	per	<u>Each</u>				
105	666-2096	REFL PAV MRK TY I (W) (WORD) (100MIL)			15	EA	\$ 77.00	\$ 1,155.00
		at <u>Seventy Seven Dollars and No Cents</u>	per	<u>Each</u>				
106	666-2105	REF PAV MRK TY I (Y) 4" (BRK) (100 MIL)			7750	LF	\$ 0.26	\$ 2,015.00
		at <u>No Dollars and Twenty Six Cents</u>	per	<u>Lineal Feet</u>				
107	666-2111	REFL PAV MRK TY I (Y) 4" (SLD)(100MIL)			37720	LF	\$ 0.25	\$ 9,430.00
		at <u>No Dollars and Twenty Five Cents</u>	per	Lineal Feet				
108	666-2132	REFL PAV MRK TY I (Y) 24"(SLD)(100MIL)			318	LF	\$ 4.00	\$ 1,272.00
		at <u>Four Dollars and No Cents</u>	per	Lineal Feet				
109	666-2141	REFL PAV MRK TY I (Y) (MED NOSE) (100MIL)			1	EA	\$ 175.00	\$ 175.00
	····	at One Hundred Seventy Five Dollars and No Cents	per	<u>Each</u>				
110	672-2012	REFL PAV MRKR TY I - C			626	EA	\$ 2.75	\$ 1,721.50
		at Two Dollars and Seventy Five Cents	per	<u>Each</u>				

PROJECT: 09WC706 Project Name Williams Drive

BID	TECH SPEC ¹	DESCRIPTION WITH UNIT PRICES IN WORDS			BID QUANTITY	UNIT MEASURE	UNIT COST	AMOUNT BID
111	672-2015	REFL PAV MRKR TY II - A - A			1011	EA	\$ 2.65	\$ 2,679.15
		at Two Dollars and Sixty Five Cents	per	<u>Each</u>				
112	677-2001	ELIM EXT PAV MRK & MRKS (4")			14849	LF	\$ 0.40	\$ 5,939.60
		at <u>No Dollars and Forty Cents</u>	per	Each				
113	680-2003	INSTALL HWY TRF SIG (SYSTEM)			3	EA	\$ 7,950.00	\$ 23,850.00
		at Seven Thousand Nine Hundred Fifty Dollars and No Cents	per	<u>Each</u>				
114	682-2001	BACK PLATE (12 IN) (3 SEC)			20	EA	\$ 77.38	\$ 1,547.60
		at <u>Seventy Seven Dollars and Thirty Eight Cents</u>	per	<u>Each</u>				
115	682-2002	BACK PLATE (12 IN) (4 SEC)			1	EA	\$ 116.60	\$ 116.60
		at One Hundred Sixteen Dollars and Sixty Cents	per	<u>Each</u>			· · · · · · · · · · · · · · · · · · ·	
116	682-2003	BACK PLATE (12 IN) (5 SEC)			6	EA	\$ 132.50	\$ 795.00
		at One Hundred Thirty Two Dollars and Fifty Cents	per	Each				
117	682-2014	PED SIG SEC (12 IN) LED (2 INDICATIONS)			12	EA	\$ 477.00	\$ 5,724.00
		at Four Hundred Seventy Seven Dollars and No Cents	per	<u>Each</u>	ļ			
118	682-2021	VEH SIG SEC (12 IN) LED (HOUSING ONLY)			94	EA	\$ 212.00	\$ 19,928.00
		at Two Hundred Twelve Dollars and No Cents	per	<u>Each</u>				
119	682-2022	VEH SIG SEC (12 IN) LED (GRN ARW)			8	EA	\$ 187.62	\$ 1,500.96
		at One Hundred Eighty Seven Dollars and Sixty Two Cents	per	<u>Each</u>				
120	682-2023	VEH SIG SEC (12 IN) LED (GRN)			26	EA	\$ 212.00	\$ 5,512.00
		at <u>Two Hundred Twelve Dollars and No Cents</u>	per	<u>Each</u>				
121	682-2024	VEH SIG SEC (12 IN) LED (YEL ARW)			7	EA	\$ 209.88	\$ 1,469.16
		at Two Hundred Nine Dollars and Eighty Eight Cents	per	<u>Each</u>				

¹Refer to the Technical Specifications section for a description of the specific reference number.

PROJECT:

09WC706

Project Name Williams Drive

BID ITEM	TECH SPEC ¹	DESCRIPTION WITH UNIT PRICES IN WORDS			BID QUANTITY	UNIT MEASURE	UNIT COST	AMOUNT BID
122	682-2025	VEH SIG SEC (12 IN) LED (YEL)		Fach	26	EA	\$ 245.92	\$ 6,393.92
123	682-2027	at Two Hundred Forty Five Dollars and Ninety Two Cents VEH SIG SEC (12 IN) LED (RED) at One Hundred Seventy Three Dollars and Eighty Four Cents	per	<u>Each</u> Each	27	EA	\$ 173.84	\$ 4,693.68
124	684-2028	TRF SIG CBL (TY A) (14 AWG) (2 CONDR) at One Dollar and Thirty Eight Cents	per	Lineal Feet	1826	LF	\$ 1.38	\$ 2,519.88
125	684-2031	TRF SIG CBL (TY A) (14 AWG) (5 CONDR) at Two Dollars and Twelve Cents	per	Lineal Feet	3671	LF	\$ 2.12	\$ 7,782.52
126	684-2033	TRF SIG CBL (TY A) (14 AWG) (7 CONDR) at Two Dollars and Eighty Cents	per	Lineal Feet	940	LF	\$ 2.80	\$ 2,632.00
127	684-2049	TRF SIG CBL (TY A) (16 AWG) (3 CONDR) at No Dollars and One Cent	per	Lineal Feet	3604	LF	\$ 0.01	\$ 36.04
128	686-2006	INS TRF SIG PL AM (S) STR (TY B) LUM at Four Thousand Two Hundred Forty Dollars and No Cents	per	Each	6	EA	\$ 4,240.00	\$ 25,440.00
129	687-2001	PED POLE ASSEMBLY at Six Hundred Forty Six Dollars and Sixty Cents	per	Each	2	EA	\$ 646.60	\$ 1,293.20
130	688-2001	PED DETECT (2 INCH PUSH BTN) at One Hundred Thirty Nine Dollars and Ninety Two Cents	per	Each	12	EA	\$ 139.92	\$ 1,679.04
131	5118-2002	ITEM DELETED at No Dollars and No Cents	per	Each				\$ -
132	6006-2001	SPREAD SPECTRUM RADIO at Two Thousand Nine Hundred Sixty Eight Dollars and No Cents	per	<u>Each</u>	3	EA	\$ 2,968.00	\$ 8,904.00

PROJECT:

09WC706

Project Name Williams Drive

BID	TECH	DESCRIPTION			BID	UNIT	UNIT COST	AMOUNT BID
ITEM	SPEC ¹	WITH UNIT PRICES IN WORDS			QUANTITY	MEASURE		
133	6006-2002	COAXIAL CABLE			171	LF	\$ 4.24	\$ 725.04
		at <u>Four Dollars and Twenty Four Cents</u>	per	Lineal Feet				
134	6006-2004	ANTENNA (OMNI - DIRECTIONAL)			3	EA	\$ 525.76	\$ 1,577.28
		at Five Hundred Twenty Five Dollars and Seventy Six Cents	per	<u>Each</u>				
135	6007-2001	REMOVING TRAFFIC SIGNAL			3	EA	\$ 1,060.00	\$ 2.190.00
133	6007-2001	at One Thousand Sixty Dollars and No Cents	per	<u>Each</u>	, ,		\$ 1,000.00	\$ 3,180.00
		VIVDS PROCESSOR SYSTEM			_			
136	6266-2001	at Seventy Nine Dollars and Fifty Cents	per	Each	3	EA	\$ 79.50	\$ 238.50
		VIVDS CAMERA ASSEMBLY	poi	Luon				
137	6266-2002				22	EA	\$ 392.20	\$ 8,628.40
		at <u>Three Hundred Ninety Two Dollars and Twenty Cents</u>	per	<u>Each</u>				
138	6266-2003	VIVDS SET-UP SYSTEM			3	EA	\$ 848.00	\$ 2,544.00
		at <u>Eight Hundred Forty Eight Dollars and No Cents</u>	per	<u>Each</u>			· · · · · · · · · · · · · · · · · · ·	
139	6266-2005	VIVDS COMMUNICATION CABLE (COAXIAL)			3604	LF	\$ 4.24	\$ 15,280.96
100	0200-2003	at Four Dollars and Twenty Four Cents	per	Lineal Feet	0004	[Ψ 1.24	Ψ 13,200.90
		PIPE 6 INCH DUCTILE IRON PIPE (ALL DEPTHS), INCLUDING EXCA	VATION A	ND BACKFILL				
140	W1-P-1	at Forty Two Dollars and No Cents	per	Lineal Feet	400	LF	\$ 42.00	\$ 16,800.00
			pei	Linear Feet				
141	W3-FH-1	FIRE HYDRANT RELOCATION			20	EA	\$ 1,800.00	\$ 36,000.00
		at One Thousand Eight Hundred Dollars and No Cents	per	<u>Each</u>				
142	W3-WV-1	ADJUST WATER VALVE TO GRADE			26	EA	\$ 285.00	\$ 7,410.00
		at Two Hundred Eighty Five Dollars and No Cents	per	<u>Each</u>				
142	W3-AR-1	ADJUST AIR RELEASE MANHOLE TO GRADE			4	EA	\$ 875.00	\$ 3,500.00
143	VV3-AK-1	at Eight Hundred Seventy Five Dollars and No Cents	per	Each	4		Ψ 075.00	φ 3,500.00

PROJECT:

09WC706

Project Name Williams Drive

BID	TECH SPEC ¹	DESCRIPTION WITH UNIT PRICES IN WORDS			BID QUANTITY	UNIT MEASURE	UNIT COST		AMOUNT BID
II EIVI	3FEC	ADJUST FLUSH VALVE BOX TO GRADE			QUANTITY	MEASURE		Γ	
144	W3-FV-1				2	EA	\$ 425.00	\$	850.00
		at Four Hundred Twenty Five Dollars and No Cents	per	<u>Each</u>				-	
145	W1-PIF-1	COMPACT DUCTILE IRON FITTINGS AWWA C-153			0.16	TON	\$ 3,800.00	\$	608.00
		at Three Thousand Eight Hundred Dollars and No Cents	per	<u>Ton</u>					
146	W3-BO-1	RELOCATE BLOW OFF ASSEMBLY			2	EA	\$ 375.00	\$	750.00
		at <u>Three Hundred Seventy Five Dollars and No Cents</u>	per	<u>Each</u>					
147	W1-P2-2	2 IN SCHEDULE 80 PVC PIPE			280	LF	\$ 30.00	\$	8,400.00
		at <u>Thirty Dollars and No Cents</u>	per	<u>Each</u>			Ψ 00.00	*	0,400.00
148	000 1404 4	WATER METER RELOCATION			4.4	EA			5.050.00
148	SSP-WM-1	at Three Hundred Seventy Five Dollars and No Cents	per	Each	14	EA	\$ 375.00	\$	5,250.00
		ADJUST WASTEWATER MANHOLE TO GRADE	ро.						
149	WW1-MH-1				2	EA	\$ 485.00	\$	970.00
		at Four Hundred Eighty Five Dollars and No Cents	per	<u>Each</u>				-	
150	CIP-11	TRENCH SAFETY PROTECTION			400	LF	\$ 1.00	\$	400.00
		at One Dollar and No Cents	per	<u>Each</u>					
151	509S-1	TRENCH SAFETY SYSTEMS			20892.6	LF	\$ 1.00	\$	20,892.60
131	5093-1	at One Dollar and No Cents	per	Lineal Feet	20092.0		ъ 1.00	*	20,092.00
		4" PVC WATER PIPE C900 DR14 (OPEN CUT)							
152	510-AW-40C			Lineal Feet	32	LF	\$ 38.00	\$	1,216.00
ļ		at <u>Thirty Eight Dollars and No Cents</u>	per	Linear Feet				╁	
153	510-AW-60C	6" PVC WATER PIPE C900 DR14 (OPEN CUT)			120.5	LF	\$ 40.00	\$	4,820.00
		at Forty Dollars and No Cents	per	Lineal Feet				<u> </u>	
154	510-AW-80C	8" PVC WATER PIPE C900 DR14 (OPEN CUT)			9416.8	LF	\$ 28.00	s	263,670.40
154	010-AVV-000	at Twenty Eight Dollars and No Cents	per	Lineal Feet	0410.0		20.00	"	200,070.40

PROJECT:	09WC706	Project Name Williams Drive

BID ITEM	TECH SPEC ¹	DESCRIPTION WITH HAIT PRICES IN WORDS			BID	UNIT	UNIT COST	AMOUNT BID
TIEM	SPEC	WITH UNIT PRICES IN WORDS			QUANTITY	MEASURE		
155	510-AW-120C	12" PVC WATER PIPE C900 DR14 (OPEN CUT)			2713.3	LF	\$ 37.00	\$ 100,392.10
ļ		at <u>Thirty Seven Dollars and No Cents</u>	per	<u>Lineal Feet</u>				
156	510-AW-160C	14" D.I. WATER PIPE CLASS 350 (OPEN CUT)			402	LF	\$ 69.00	\$ 27,738.00
		at Sixty Nine Dollars and No Cents	per	Lineal Feet				
157	510-AW-180C	18" D.I. WATER PIPE CLASS 350 (OPEN CUT)			5960.1	LF	\$ 87.00	\$ 518,528.70
107	01071111000	at <u>Eighty Seven Dollars and No Cents</u>	per	Lineal Feet	0000.1		V 07.00	ψ 010,020.70
158	510 AW 240C	24" D.I. WATER PIPE CLASS 350 (OPEN CUT)			502	LF	\$ 136.00	\$ 68,272.00
150	510-AW-240C	at One Hundred Thirty Six Dollars and No Cents	per	Lineal Feet	502	LF	\$ 130.00	\$ 68,272.00
		8" PVC C900 DR14 WATER PIPE (INSIDE ENCASEMENT)	•					
159	510-AW-81E	at Twenty Three Dollars and No Cents	per	Lineal Feet	1540	LF	\$ 23.00	\$ 35,420.00
			pei	Linear r cet				
160	510-AW-121E	12" PVC C900 DR14 WATER PIPE (INSIDE ENCASEMENT)			930	LF	\$ 31.00	\$ 28,830.00
	ļ	at <u>Thirty One Dollars and No Cents</u>	per	<u>Lineal Feet</u>				
161	510-AW-181E	18" D.I. CLASS 350 WATER PIPE (INSIDE ENCASEMENT)			663	LF	\$ 79.00	\$ 52,377.00
		at Seventy Nine Dollars and No Cents	per	Lineal Feet				
162	510-AW-241E	24" D.I. CLASS 350 WATER PIPE (INSIDE ENCASEMENT)			40	LF	\$ 122.00	\$ 4,880.00
102	310-AVV-241C	at One Hundred Twenty Two Dollars and No Cents	per	Lineal Feet	10		Ψ 122.00	Ψ,000.00
		18" STEEL ENCASEMENT PIPE (OPEN CUT)				LF		6 00 100 00
163	505S-B-18	at Eighty Dollars and No Cents	per	Lineal Feet	777	LF	\$ 80.00	\$ 62,160.00
		24" STEEL ENCASEMENT PIPE (OPEN CUT)						
164	505S-B-24		nor	Lineal Feet	795	LF	\$ 100.00	\$ 79,500.00
		at <u>One Hundred Dollars and No Cents</u>	per	Lilleal reet				
165	505S-B-30	30" STEEL ENCASEMENT PIPE (OPEN CUT)			174	LF	\$ 135.00	\$ 23,490.00
		at One Hundred Thirty Five Dollars and No Cents	per	Lineal Feet		L		

PROJECT: 09WC706 Project Name Williams Drive

BID	TECH SPEC ¹	DESCRIPTION			BID	UNIT	UNIT COST	AMOUNT BID
ITEM	SPEC	WITH UNIT PRICES IN WORDS			QUANTITY	MEASURE		
166	501S-18	18" STEEL ENCASEMENT PIPE (BORE)			763	LF	\$ 264.00	\$ 201,432.00
		at <u>Two Hundred Sixty Four Dollars and No Cents</u>	per	<u>Lineal Feet</u>				
167	501S-24	24" STEEL ENCASEMENT PIPE (BORE)			135	LF	\$ 320.00	\$ 43,200.00
		at <u>Three Hundred Twenty Dollars and No Cents</u>	per	<u>Lineal Feet</u>				
168	501S-30	30" STEEL ENCASEMENT PIPE (BORE)			489	LF	\$ 429.00	\$ 209,781.00
		at Four Hundred Twenty Nine Dollars and No Cents	per	<u>Lineal Feet</u>				
169	501S-42	42" STEEL ENCASEMENT PIPE (BORE)			40	LF	\$ 595.00	\$ 23,800.00
		at <u>Five Hundred Ninety Five Dollars and No Cents</u>	per	<u>Lineal Feet</u>				
170	505S-A	CONCRETE ENCASEMENT			40	LF	\$ 25.00	\$ 1,000.00
		at <u>Twenty Five Dollars and No Cents</u>	per	<u>Lineal Feet</u>				
171	510-KW-4	4" D.I. FITTINGS			4	EA	\$ 145.00	\$ 580.00
		at One Hundred Forty Five Dollars and No Cents	per	<u>Each</u>	ļ			
172	510-KW-6	6" D.I. FITTINGS			5	EA	\$ 185.00	\$ 925.00
		at One Hundred Eighty Five Dollars and No Cents	per	<u>Each</u>			V	
173	510-KW-8	8" D.I. FITTINGS			43	EA	\$ 225.00	\$ 9,675.00
		at Two Hundred Twenty Five Dollars and No Cents	per	<u>Each</u>				
174	510-KW-12	12" D.I. FITTINGS			33	EA	\$ 325.00	\$ 10,725.00
		at <u>Three Hundred Twenty Five Dollars and No Cents</u>	per	Each				
175	510-KW-14	14" D.I. FITTINGS			2	EA	\$ 840.00	\$ 1,680.00
		at <u>Eight Hundred Forty Dollars and No Cents</u>	per	<u>Each</u>		ļ		
176	510-KW-18	18" D.I. FITTINGS			14	EA	\$ 2,251.00	\$ 31,514.00
		at Two Thousand Two Hundred Fifty One Dollars and No Cents	per	<u>Each</u>				

¹Refer to the Technical Specifications section for a description of the specific reference number.

PROJECT: 09WC706 Project Name Williams Drive

BID ITEM	TECH SPEC ¹	DESCRIPTION WITH UNIT PRICES IN WORDS			BID QUANTITY	UNIT MEASURE	UNIT COST	AMOUNT BID
177	510-KW-24	24" D.I. FITTINGS			6	EA	\$ 3,341.00	\$ 20,046.00
178	510-BW	at Three Thousand Three Hundred Forty One Dollars and No Cents RECONNECT EXISTING WATER SERVICE	per	<u>Each</u>	25	EA	\$ 750.00	\$ 18,750.00
179	511S-B	at Seven Hundred Fifty Dollars and No Cents FIRE HYDRANT ASSEMBLY	per	<u>Each</u>	17	EA	\$ 4,000.00	\$ 68,000.00
180	511S-A-4	at <u>Four Thousand Dollars and No Cents</u> 4" GATE VALVE	per	<u>Each</u>	2	EA	\$ 850.00	\$ 1,700.00
181	511S-A-6	at <u>Eight Hundred Fifty Dollars and No Cents</u> 6" GATE VALVE	per	<u>Each</u>	19	EA	\$ 1,100.00	\$ 20,900.00
182	511S-A-8	at One Thousand One Hundred Dollars and No Cents 8" GATE VALVE	per	<u>Each</u>	16	EA	\$ 1,275.00	\$ 20,400.00
183	511S-A-12	at One Thousand Two Hundred Seventy Five Dollars and No Cents 12" GATE VALVE	per	<u>Each</u>	8	EA	\$ 2,450.00	\$ 19.600.00
	E44C A 44	at Two Thousand Four Hundred Fifty Dollars and No Cents 14" GATE VALVE	per	<u>Each</u>	1	EA		
184	511S-A-14	at Six Thousand Five Hundred Dollars and No Cents 18" GATE VALVE	per	Each	1	EA	\$ 6,500.00	\$ 6,500.00
185	511S-A-18	at <u>Eight Thousand Four Hundred Dollars and No Cents</u>	per	<u>Each</u>	4	EA	\$ 8,400.00	\$ 33,600.00
186	511S-A-24	24" BUTTERFLY VALVE at <u>Eight Thousand Eight Hundred Dollars and No Cents</u>	per	<u>Each</u>	3	EA	\$ 8,800.00	\$ 26,400.00
187	511S-G	AIR RELEASE VALVE (2") at Two Thousand One Hundred Sixty Dollars and No Cents	per	<u>Each</u>	3	EA	\$ 2,160.00	\$ 6,480.00

PROJECT:	09WC706	Project Name Williams Drive

Full compensation for compliance with each and every provision of the Request for Bids, the Bid, the Specifications, and the Contract will be considered as included in the unit prices for the work set forth below, and no separate payment will be made for compliance with each and every provision of the Request for Bids, the Bid, the Specifications, and the Contract, unless separate payment is expressly provided for therein.

BID ITEM	TECH SPEC ¹	DESCRIPTION WITH UNIT PRICES IN WORDS			BID QUANTITY	UNIT MEASURE	UNIT COST	AMOUNT BID
188	511S-E	FLUSH VALVE (2") at Eight Hundred Seventy Five Dollars and No Cents	per	Each	2	EA	\$ 875.00	\$ 1,750.00
189	511S-D	PRESSURE RELEASE VALVE at Eleven Thousand Five Hundred Dollars and No Cents	per	Each	1	EA	\$ 11,500.00	\$ 11,500.00
190	340S-C	ASPHALT REPAIR at Thirty Eight Dollars and No Cents	per	Lineal Feet	522	LF	\$ 38.00	\$ 19,836.00
191	WLM	WATER LINE MARKER at Twenty Five Dollars and No Cents	per	<u>Each</u>	14	EA	\$ 25.00	\$ 350.00

\$ 10,323,350.91

TOTAL AMOUNT OF BASE BID

Ten Million Three Hundred Twenty Three Thousand Three Hundred Fifty Dollars and Ninety One Cents Cents

PROJECT:	09WC706	Project Name Williams Drive

BID	TECH	DESCRIPTION			BID	UNIT	U	NIT COST	A	MOUNT BID
ITEM	SPEC ¹	WITH UNIT PRICES IN WORDS ALRERNATE BID FOR CTSUD WATER LI	NE C (Add Items to	QUANTITY the Base B	MEASURE				
1A	102S-B	CLEARING AND GRUBBING	<u> </u>		90	STA	\$	300.00	\$	27,000.00
		at <u>Three Hundred Dollars and No Cents</u>	per	Station						
2A	509S-1	TRENCH SAFETY SYSTEMS			9009.5	LF	\$	1.00	\$	9,009.50
	! !	at One Dollar and No Cents	per	<u>Lineal Feet</u>			<u> </u>			
3A	510-AW-60C	6" PVC WATER PIPE C900 DR14 (OPEN CUT)			19.5	LF	\$	40.00	\$	780.00
		at <u>Forty Dollars and No Cents</u>	per	Lineal Feet			ļ			
4A	510-AW-180C	18" D.I. WATER PIPE CLASS 350 (OPEN CUT)			8672	LF	\$	79.00	\$	685,088.00
 		at <u>Seventy Nine Dollars and No Cents</u>	per	<u>Lineal Feet</u>					<u> </u>	
5A	510-AW-181E	18" D.I. CLASS 350 WATER PIPE (INSTALL INSIDE ENCASEMENT)			877	LF	\$	75.00	\$	65,775.00
		at <u>Seventy Five Dollars and No Cents</u>	per	Lineal Feet						
6A	505S-B-30	30" STEEL ENCASEMENT PIPE (OPEN CUT)			318	LF	\$	135.00	\$	42,930.00
		at One Hundred Thirty Five Dollars and No Cents	per	<u>Lineal Feet</u>					ļ	
7A	501S-30	30" STEEL ENCASEMENT PIPE (BORE)			559	LF	\$	429.00	\$	239,811.00
		at <u>Four Hundred Twenty Nine Dollars and No Cents</u>	per	Lineal Feet						
8A	510-KW-18	18" D.I. FITTINGS			9	EA	\$	2,251.00	\$	20,259.00
		at Two Thousand Two Hundred Fifty One Dollars and No Cents	per	<u>Each</u>						
9A	511S-B	FIRE HYDRANT ASSEMBLY			3	EA	\$	4,000.00	\$	12,000.00
		at <u>Four Thousand Dollars and No Cents</u>	per	<u>Each</u>						
10A	511S-A-6	6" GATE VALVE			3	EA	\$	1,100.00	\$	3,300.00
		at One Thousand One Hundred Dollars and No Cents	per	Each				,		

PROJECT:	09WC706	Project Name Williams Drive

Full compensation for compliance with each and every provision of the Request for Bids, the Bid, the Specifications, and the Contract will be considered as included in the unit prices for the work set forth below, and no separate payment will be made for compliance with each and every provision of the Request for Bids, the Bid, the Specifications, and the Contract, unless separate payment is expressly provided for therein.

BID ITEM	TECH SPEC ¹	DESCRIPTION WITH UNIT PRICES IN WORDS	BID QUANTITY	UNIT MEASURE	UNIT COST	AMOUNT BID
11A	511S-A-8	18" GATE VALVE at <u>Eight Thousand Four Hundred Dollars and No Cents</u> per <u>Each</u>	3	EA	\$ 8,400.00	\$ 25,200.00
12A	511S-G	AIR RELEASE VALVE (2") at Two Thousand One Hundred Sixty Dollars and No Cents per Each	4	EA	\$ 2,160.00	\$ 8,640.00
13A	511S-E	FLUSH VALVE (2") at Eight Hundred Seventy Five Dollars and No Cents per Each	1	EA	\$ 875.00	\$ 875.00
14A	WLM	WATER LINE MARKER at Twenty Five Dollars and No Cents per <u>Each</u>	2	EA	\$ 25.00	\$ 50.00

TOTAL AMOUNT OF ALTERNATE ITEMS BID FOR CTSUD		
One Million One Hundred Forty Thousand Seven Hundred Seventeen Dollars and Fifty Cents	Cents	\$ 1,140,717.50
TOTAL AMOUNT OF BASE AND ALTERNATE ITEMS BID		
Eleven Million Four Hundred Sixty Four Thousand Sixty Eight Dollars and Forty One Cents	Cents	\$ 11,464,068.41

NOTE: THE COURT MAY EITHER REJECT ALL BIDS OR AWARD A CONTRACT TO THE LOWEST RESPONSIVE BID.

Acknowledgment of Addenda

Addendum No. 1: December 10, 2008
Addendum No. 2: December 15, 2008
Addendum No. 3: December 16, 2008

Addendum No. 4:



WILLIAMSON COUNTY CONFLICT OF INTEREST STATEMENT

I hereby acknowledge that I am aware of the Local Government Code of the State of Texas, Section 176.006 regarding conflicts of interest and will abide by all provisions as required by Texas law.

Zane C. Hudson-Vice President	
Name of Company:	
JC. Evans Construction Co, LP	
Date:	
12-17-08	
Signature of person submitting form:	
Form Chr. V.P	

Notarized:

Sworn and subscribed before me	The state of the s
on <u>2-17-03</u> . (date)	The state of the s
	27-100 minimum

NON-COLLU	JSION AFFIDAVIT—Form D
STATE OF Texus) SS:
COUNTY OF \h\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	_)
Each of the undersigned, being first duly A. Zance Hudseris the Vice President of JC of, which entire the content of the foregoing the	ty(ies) are the Count Ridner of
in a sham Proposal or that anyone shall not in any manner, directly or indirectly, conference with anyone to fix the prices or to fix any overhead, profit or cost eler of any other Proposer, or to secure any interested in the proposed agreement; a are true; and, further, the Proposer has prices or any breakdown thereof, or the or data relative thereto, or paid, and will partnership, company, association, joint	ion, organization, joint venture, limited posal is genuine and not collusive or ndirectly induced or solicited any other osal, and has not directly or indirectly with any Proposer or anyone else to put refrain from proposing; the Proposer has sought by agreement, communication or of the Proposer or any other Proposer, ment included in the Proposal, or of that advantage against TxDOT or anyone all statements contained in the Proposal not, directly or indirectly, submitted its contents thereof, or divulged information not pay, any fee to any corporation, venture, limited liability company, y member, partner, joint venturer or agent
C. The Proposer will not, directly or indiregarding the price or other terms of its to obtain information or data regarding the Proposal, until after award of the Agreed cancellation of the RFP.	Proposal to any other Proposer, or seek he price or other terms of any other
Jan Ch	
(Signature)	(Signature)
Zure C. Hudson (Name Printed) Vice President for gp (Title)	(NamePrinted)
Vice President Sonan	
(Title)	(Title)

Form D Page 1 of 2

08WCXXX

Williams Drive (RM 2338) Williamson County

Certification of Absence of Suspension, Debarment, Voluntary Exclusion, or Determination of Ineligibility

The undersigned bidder, under penalty of perjury under the laws of the United States or the State of Texas, certifies that, except as noted herein, the bidder's firm and all persons associated therewith in the capacity of the owner, partner, stockholder, director, officer, principal investigator, project director, manager, auditor, or any position involving the administration of any part of the firm's operations:

- 1. are not currently suspended, debarred, or voluntarily excluded from or determined to be ineligible for bidding by any federal agency;
- 2. have not been suspended, debarred, voluntarily excluded from of determined to be ineligible for bidding by any federal agency within the past 3 years;
- 3. do not have a proposed debarment pending with any federal agency, and
- 4. have not been indicted, convicted, or had a civil judgment rendered against it or any person indicated above by a court of competent jurisdiction in any matter involving fraud or official misconduct within the past 3 years.

All exceptions to the above are recorded in the following space:
NA
The undersigned bidder understands that all exceptions will not necessarily preclude the issuance of a bidding proposal or result in the denial of award of the contract for a federally-funded project. It is also understood that exceptions will be carefully reviewed by the department and by the Federal Highway Administration and may result in rejection of the bid proposal and suspension and debarment of the contractor pursuant to 43 Texas Administrative Code (TAC) Section 9.6. Procedure for Debarment of a Contractor, to 43 TAC 9.7, Procedure for Suspension of a Contractor, to 43 TAC Section 9.8, Supplemental Procedures for Suspension or Debarment of a Contractor, and/or Debarment and Suspension (Non-Procurement) 49 CFR Part 29 (1987).
For any exception noted, the following information explains to whom it applies, the initiating agency, and the dates of action.
The undersigned bidder understands that providing false information may result in criminal prosecution or administrative sanctions.

DISCLOSURE OF LOBBYING ACTIVITIES

Complete this form to disclose lobbying activities pursuant to 31 U.S.C. 1352 (See reverse for public burden disclosure.)

1. Type of Federal Action: a. contracti b. grant	2. Status of Federal A a. bid/offer/appli b. initial award		3. Report Type: a. initial filing b. grant For meterial change only:			
c. cooperative agreement d. loan	c. post-award		For material change only: year quarter			
e. loan guarantee			date of last report			
f. loan insurance						
4. Name and Address of Reporting Entity: J. C. Evans Construction Co	LP	5. If Reporting Enti Enter Name and Addr	ity in No. 4 is Subawardee, ress of Prime:			
P.O. Bix 1216 Leandy, TX 78646		NA				
Prime Subawardee						
Tier Congressional District, if known:	_, if known:	Congressional District, if known:				
6. Federal Department/Agency:		7. Federal Program	Name/Description:			
NA			^			
174		CFDA Number, if app	olicable: NA			
8. Federal Action Number, if known:		9. Award Amount, i	f known:			
AM		s NA				
10. a. Name and Address of Lobbying Entity (if individual, last name, first name, MI):	,	b. Individuals Perform from No. 10a) (last na	ning Services (including address if different ame, first name, MI):			
NA						
, , , ,	ach Continuation Sheet	s) SF-LLL-A, if necess	ary)			
11. Amount of Payment (check all that apply):	13. Type of Payment ((check all that apply):			
\$NAactua	al planned	a. retainer b. one-time fee				
12. Form of Payment (check all that apply)		c. commission d. contingent fee				
a. cash		e. deferred				
b. in-kind; specify: nature NYA value		f. other; specify:	NA			
14. Brief Description of Services Performed o	r to be Performed and I	Date(s) of Service, include	ding			
officer(s), employee(s), or Member(s) contact	ed, for Payment Indicate	ed in Item 11:				
(attach Continuation Sheet(s) SF-LLL-A, if no	ecessary) NA	7771 1001011111				
15. Continuation Sheet(s) SF-LLL-A attack	hed:	Yes	No A			
16. Information requested through this form i 31 U.S.C. section 1352. This disclosure of lol material representation of fact upon which reli	obying activities is a	Signature:	EC. Hudson			
the tier above when this transaction was made disclosure is required pursuant to 31 U.S.C. 13		Title: Vice President				
will be reported to the Congress semi-annually						
for public inspection. Any person who fails to closure shall be subject to a civil penalty of no		Telephone No: C 21-2	Date: 12-11-06			
and not more than \$100,000 for each such fail						
FEDERAL USE ONLY			Authorized for Local Reproduction			
			Standard Form - LLL			

DISCLUSURE OF LOBBYING ACTIVITIES

Approved by OMB

CONTINUATION SHEET

Reporting Entity:	Page	_ of	_
MA			
1 11,			
			İ

Authorized for Local Reproduction Standard Form - LLL-A

References Projects similar to Williams Drive

PROJECT

1) US 79 Section 5B

Williamson County Texas \$16,986,053.49

CONTRACT AMOUNT

701 Main Street Suite 303

Georgetown, TX 78626

(512) 943-1554 **HNTB** Engineering 14 Galloping Road Round Rock, TX 78681 (512) 744-9082

2) Ronald Reagan Blvd. N. Ph.2 Williamson County Texas \$ 9,395,613.71

701 Main Street

Suite 303

Georgetown, TX 78626

(512) 943-1554 **HNTB** Engineering 14 Galloping Road Round Rock, TX 78681

(512) 744-9082

3) Chandler Road Extension Ph 1 Williamson County Texas \$ 3,772,741.4

701 Main Street

Suite 303

Georgetown, TX 78626

(512) 943-1554 **HNTB** Engineering 14 Galloping Road Round Rock, TX 78681

(512) 744-9082

4) County Road 274, Phase 1 Williamson County Texas \$ 2,291,679.53

701 Main Street

Suite 303

Georgetown, TX 78626

(512) 943-1554 **HNTB** Engineering 14 Galloping Road Round Rock, TX 78681

(512) 744-9082

CONSENT OF SOLE MEMBER OF JC EVANS NEVADA, LLC

The undersigned, being the sole member of JC Evans Nevada, LLC, a Nevada limited liability company (the "Company"), does hereby consent to the adoption of the following resolutions:

RESOLVED, that the following persons are hereby elected as managers of the Company, to serve in accordance with the Limited Liability Company Agreement of the Company until their successors are elected and qualified:

Blake A. Kuhlman Zane C. Hudson Johnny Odell

FURTHER RESOLVED, that the following persons are hereby elected to the offices set opposite their respective names, to serve in accordance with the Limited Liability Company Agreement of the Company until their successors are elected and qualified:

Blake A. Kuhlman - President
Zane C. Hudson - Vice President

Johnny Odell - Vice President and Secretary

FURTHER RESOLVED, that all actions taken by the member, the managers, and officers of the Company with respect to decisions, determinations, actions, inactions, omissions to act and otherwise relating to J. C. Evans Construction Co., LP, as the general partner, in conducting the ordinary and legitimate company and business affairs of J. C. Evans Construction Co., LP are hereby ratified, confirmed, approved, and adopted as the action of the Company;

FURTHER RESOLVED, that all action taken by the managers or officers of the Company since the last annual meeting of the directors of the Company in conducting the ordinary and legitimate company and business affairs of the Company are hereby ratified, confirmed, approved and adopted as the action of the Company.

DATED: April 14, 2007

J.C. EVANS CONSTRUCTION HOLDINGS, INC.

1

By: _____

Blake A. Kuhlman, President

Being the Sole Member of the Company



Texas Comptroller of Public Accounts

SUSAN COMBS · COMPTROLLER · AUSTIN, TEXAS 78774

December 10, 2008

CERTIFICATE OF ACCOUNT STATUS

THE STATE OF TEXAS COUNTY OF TRAVIS

I, Susan Combs, Comptroller of Public Accounts of the State of Texas, DO HEREBY CERTIFY that according to the records of this office

J C EVANS CONSTRUCTION HOLDINGS INC

is, as of this date, in good standing with this office having no franchise tax reports or payments due at this time. This certificate is valid through the date that the next franchise tax report will be due May 15, 2009.

This certificate does not make a representation as to the status of the entity's registration, if any, with the Texas Secretary of State.

This certificate is valid for the purpose of conversion when the converted entity is subject to franchise tax as required by law. This certificate is not valid for any other filing with the Texas Secretary of State.

GIVEN UNDER MY HAND AND SEAL OF OFFICE in the City of Austin, this 10th day of December 2008 A.D.

Susan Combs Texas Comptroller

Taxpayer number: 17412292074 File number: 0012508200

Form 05-304 (Rev. 12-07/17)